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#include <stdio.h>
#define N 1000000

int main(void) {

double pi = 0.0f; long 1i;

#pragma acc region for

for (i=0; i<N; i++) {
double t= (double)((i+0.5)/N);
pi +=4.0/(1.0+t*t);

}

printf("pi=%16.15f\n",pi/N);

return 9;
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program picalc
implicit none
integer, parameter :: n=1000000
integer :: 1
real(kind=8) :: t, pi
pli = 0.0
l$acc region
do i=0, n-1
t = (i+0.5)/n
pi = pi + 4.0/(1.0 + t*t)
end do
l$acc end region
print *, 'pi=', pi/n
end program picalc
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#pragma acc parallel [clause..]
structured block

I$acc parallel [clause..]
structured block
I$acc end parallel
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#pragma acc parallel reduce(+:sum)
for (x = @; X < N; ++x) {
sum += a[x];

¥

 2IEEE FIZKAIENIRETERS
—C:+, *, max, min, &, |, ~, &&, ||

— Fortran: +, *, max, min, iand, ior,
ieor, .and., .or., .eqv., .nhegv.
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while ( error > tol && iter < iter max ) {
error=0.f;
for( int j = 1; j <=m; j++) {
for(int 1 = 1; i <= n; i++) {
Anew[j][i] = 0.25Ff * (A[j][i+1] + A[]j][i-1]
+ A[J-1][1i] + A[J+1][1i]);
error = max(error, abs(Anew[j][1] - A[J][1i]);

¥
}

tmp = Anew;
Anew = A;
A = tmp;
iter++;

¥



. ok

while ( error > tol && iter < iter max ) {

error=0.f;
#pragma acc parallel reduce(max:error)

for( int j = 1; j <=m; j++) {
for(int 1 = 1; i <= n; i++) {
Anew[j][i] = 0.25Ff * (A[j][i+1] + A[]j][i-1]
+ A[J-1][1i] + A[J+1][1i]);
error = max(error, abs(Anew[j][1] - A[J][1i]);

¥
}

tmp = Anew;
Anew = A;
A = tmp;
iter++;

¥
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#pragma acc kernels [clause..]
structured block

I$acc kernels [clause..]
structured block
I$acc end kernels
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kernels {51

l$acc kernels

do i=1,n

a(i) = 0.0 <

b(i) = 1.0

c(i) = 2.0 2D A{E DGPU
end do H—RILEE R
do i=1,n

a(i) = b(1i) + c(i) <
end do

l$acc end kernels



Data Construct

#pragma acc data
structured blo

I$acc data [clau
structured blo
l$acc end data
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. ok

#pragma acc data copy(A, Anew)
while ( error > tol && iter < iter max ) {

error=0.f;
#pragma acc parallel reduce(max:error)

for( int j = 1; j <= m; j++) {
for(int 1 = 1; i <= n; i++) {
Anew[j][i] = 0.25Ff * (A[j][i+1] + A[]j][i-1]
+ A[J-1][1i] + A[J+1][1i]);
error = max(error, abs(Anew[j][1] - A[J][1i]);

¥
}

tmp = Anew;
Anew = A;
A = tmp;
iter++;

¥



. ok

#pragma acc data copy(A) create(Anew)
while ( error > tol && iter < iter max ) {

error=0.f;
#pragma acc parallel reduce(max:error)

for( int j = 1; j <= m; j++) {
for(int 1 = 1; i <= n; i++) {
Anew[j][i] = 0.25Ff * (A[j][i+1] + A[]j][i-1]
+ A[J-1][1i] + A[J+1][1i]);
error = max(error, abs(Anew[j][1] - A[J][1i]);

¥
}

tmp = Anew;
Anew = A;
A = tmp;
iter++;

¥



Loop Construct

#pragma acc loop [clause..]

for Loop

I$acc loop [clause..]

do Loop

I$acc end loop
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#pragma acc cache(list)

l$acc cache (list)
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F 75API

acc_get num_devices
acc_set device type
acc_init
acc_shutdown
acc_async_test
acc_async_wait
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